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The meeting point of the Eastern and (D) TafeRim srasihne

. H '| i
Western Ghats 15 mre—l In 'which type of plate boundary the

(A) Cardamom hills Mid-oceanic ridges are formed?
(B) Palni hills (A) Convergent plate boundary

(C) Annamalai hills
(D) Nilgiri hills

(B) Divergent plate boundary
(C) Neutral plate boundary
(D) Static plate boundary

2. AGEE TF WEE AYF AT T

sfos sfEmfeeR & T wfefe w @t 5, ArlistEn = o <3 o @
(A) T 2 (A) Taeeta G AfFaS = Al
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(D) Zurie (D) e« 3 )

Dunes formed through aeolian deposition

o Thermocline is a layer where
in the Rajasthan desert region are known as

(A) Temperature remains constant.

(A) Barkhan (B) Pressure decreases.
-~ (B) Seif (C) Temperature changes rapidly with
depth.
g 5Eg (D) Sunlight increases.
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(B) ZEEiED

(©) CEAFRD

(D) (GRS

Plants which can adapt to dry environments This species of plant is found in Triga

are known as Biome—

(A) Halophyte (A) Spruce

(B) Hydrophyte (B) Baobab

(C) Mesaphyte (C) Cactus

(D) Xerophyte

(D) Mahogany
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7. ‘eram e HfB W (P TP
(A) SIFS TG &) s (3]
(B) Taw wEiHiE -
(C) =g N
(D) =BT JEs
‘Sargasso Sea’ is located in the
(A) Indian Ocean
(B) Arctic Ocean

(C) Pacific Ocean
(D) Atlantic Ocean

8. SinfAge TeAwe SEAge GeANeE W
AP SeigleingEsy @ e
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(B) St R e QA SIS e |
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(D) SeRge S v @i eme
e
‘Why is it easier to set up a thermal power
plant compared to a hydel power plant?
(A) Thermal power plant emits less green
house gas than hydel power plant.
(B) Thermal power plant has been in use
for a longtime.
(C) Itis cheaper to set up a thermal power
plant.
{D) There is no seasonal variation in the
generation of thermal power.

9, Tefenrm Nha (oI B0 o T ¢
(A) A
®) D
© B
D) C
In which layer of the soil does illuviation

take place?
(A) A
(B) D
© B
(D) C
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(A) S

(B) ==

(©) e

(D) =l

Which mineral 1de[mr.il is found in large

quantities in Shimoga district of Karnataka?

(A) Manganese

(B) Coal %{E
(C) Limestone @ﬁ
(D) Copper

11. =y Bfowt e bz giie were
g —

[A) w5z
(B) et
(C) Fiam
(D) cfers

Thiselement is very important for improving

soil fertility—

(A) Phosphorous
(B) Silica

(C) Calcium
(B} Sodinm

12, {43t ot eyt ST Ty s

(A) sttt

(B) %A WA

(€) 2ew

(@) <P

Which continent has the highest population

density?

(A) Africa

(B) Morth America
(C) Burope

(D) Asia
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(A) T8 T g S ot = e il
(B) WG AT o [f (A) i
(€) = e o (B) %
) A :

(C) Fremes s
Low salinity is generally found in (D) s faprfe

(A) Tropical region

(B) Closed seas - The intersection of less than type and more
(C) River mouths than type Ogive indicates e
(D) Coral reefs (A) Median s El

(B) Mean o

(C) Made

(D) Standard Deviation
b 14, IR0 0 <57 (0 A9S Afum e

=iy =fe gRreie e
(A) 20% o 17. ‘ﬁ?ﬁ‘i’-ﬁw{ﬂ
B) 10% 2 ' (A) TEIET 4] SHEPH |
(C) 25% DI (B) #{ife wH) Soermi |
(D) 50% (C) = Beterra Raeanz)

(D) T =l ToAEoE |
‘Knick point’ is found at

 What percentage of energy is transferred
from one trophic layer to another in an ecosystem?

#I#@@**Eﬁ##‘ﬁ*f PEDPBVTE LT ROR SRR R LR RO RERUERE DT RSO R

(A) 20% (A) Multicyclic river valley.
(B) 10% (B) Graded river valley.
(©) 25% (C) Lower stage of the river valley.
(D) 50% (D) Rainfed river valley region.
A . 18. BITAR esfd ST (eTE &E A% FIR
ol PP Y i (A) Bfe
) FeBmae  adiche (B) wHEa
@) TEEES gl © ewwere
(©) Berteil G AD) st okt
(D) FEFEA & = -
= i ¢ ; Tilting of wall located over slope is a result
eold curmel SRS (A) Landslide
(A) Equatorial current
(B) Humboldt current (8) ‘Mudflow
(C) Gulf stream (C) Rockfall
(D) Brazilian current

(D) Soil creep
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19. fsFlRe ool S @Rbe FMefE : 22, “Gfvaet %A -1, 2 a2 i sufis
wigfen mEme-FEee FENE oS el y T — R TEha el e

21. GE S e e G T TR

e g (A) ©FE (it=
(A) wHe CF <40 S (B) 5. 9%5. 710
(B) =R i b ©) @ f. R
(C) e ® i (D) ©FT. «. cefm
(D) wasd * ‘Landform is the function of structure,
Which of the following countries has a g prm:e,ssanu:l::.t%:tgq::'_Wlm|;1mpmmdf.,,:jmj_.g]._hm].}.-_jl
‘pear-shaped’ age-sex pyramid? ; (A) W. Penck
(A) India : ; (B) T.H. Hack @ Ei
(B) Nigeria ° (C) L.C.King [‘_ﬂﬁﬁ
(C) Brazil -] (D) W.M. Davis
(D) Norway p?
-]
20, I 2 SR B AT ; 23, CEEA BT AsEel FEnE @R <G
(A) et $
®) 3 e e
: R
(C) e : B)
D) #Aie e (C) wraig
ot W @ (D) werfe
In Indonesia, shifting cultivation is known o : :
i e Iifll;cn,sny of wheat cropping in India is the
(A) Milpa g mEhmt‘:} Puiiidh
(B) Jhum @ §0) 2 aie
(C) Fang g (g} fima"a
(D) Ladang 5 o s
(D) Gujarat
o
)
=
i
@ U FEbre e A T IRYE S 93 W 6Te eo—

(A) TS : (A) (ATERTTE

{B) C={HER e (B) CIGlEFE

(C) wsEGED f (C) Ae a®  F2s

(D) FEaits * (D) Fsioe

m i{:-fm I:{;ese ores contains the highest : This type of soil develops in low rainfall

percen ; * Tegions—

(A) Limonite » (A) Pedocal

(B) Haematite 4 (B) Pedalfer

(©) Magnetite * (C) Saline soil

(D) Siderite * ;

* (D} Lithosol

2 "
. i [

'Q.‘;am
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25, wat A8 S0P SR Setizan i 28. +{f4fn AymevTE Froen v =
m:ﬁm SfoiRs (A) G

(A) R (B) srsiPnta

{B) ¥ wRY (C) efifars

(C) wHes] O] (D) BbrFwara

(D) TEF Which of these is the coldest layer of the

The ideal situation of man-land ratio in a earth's atmosphere’
particular region is called (A) Mesosphere

{A) Overpopulation (B) Exosphere

(B) Optimum Population (C) Thermosphere

(C) Underpopulation (D) Stratosphere &

(D) Carrying Capacity

e

29, A ez wA B wwrE faflie 2e@
o] giF w1

‘.- as. G g S we1Re wwe Ree
(A) wF =i e[ @ TE

"”Wm (B) w%eTe g o

: (B) (e 3 (C) B i o Gl TR

E (©) &HdA (D) Tomrs adtfes Sauw wi
(D) #f% Out-migration of population will not have
‘Which of these geographers divided the this effect in the source region

‘world into ‘natural regions’?
{A) Prof. Herbertson

(A) Scarcity of skilled labour
(B) Decrease in population density

(B) Carl O Sauer (C) Increase in uremployment
{C) Huntington (D) Economic development in the source
(D) Kant region

27. TafRe sftrmsiebE vy @Eba o 30. PR smnfReks sw el 39

fl*ﬂ&i—ilﬂi*!‘ﬁﬁ_-i LS LBBELTELTESRBELNORS SRR R R TR IR O e

Sfsrmeien wg S~ T wmlifes SR
(A) =He (A) fefeap
(B) o (B) ch=iEah
(C) et = wfsret (C) SR =
(D) virmem wfers (D) <=1 +
In which of the following projections does Which of the following is an example of
the developable surface touch the mid-latitude? extinet voleana?
(A) Mercator's (A) Vesuvius
(B) Gnomonic (B) Maounaloa
{C) Simple Conical Projection (C) Narkondam
(D) Sinusoidal Projection (1) Etna
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(A) zfaet Cf %-{0) g (A) o%-Bora
(B) frfaf 2 ¥ (B) o »@
(€) =R b (©) pfs-wn
(D) w5 E (D) Treflorn et
Whichof these plays the role of decom Which of the f ingi
St et poser ; i fmding;chof&w nlinmngisalnndfmmcrmbd
(89 Dier : (A) Rift valley
(B) Chamftlmu * (B) Block mountain
{C] S;del“m f (C) Fault scarp |
(D) Plankton . (D) Anticline ridge
|
9
32. a3l fRars o Beo ez v
Tt o S 35 AR guren @ e vy
(A) 90° s (A) SR Te
(B) 180° - B) TP v M
(C) 270° o (C) owFves
D) 360° . (D) (arem
What is the total angle formed at the centre 9 Which part of the earth’s emst has the
of a piegraph? ; highest density? ' '
(A) 907 & (A} Continental crust
(B) 180° g (B) Ocesnic crust
(C) 270° ® (€) Mantle
(D) 360° : (D) Core
=1
&
33. FfRe crefee oy crem e e ﬁ 36. SIA0TA <X WA TR B yurer Mo
s =7 FdifT e s T—
(A) =8 : (A) b5 Toige
(B) BW & (B) AF5wm Beige
(©) sFFsifRE s (C) wifiewTs Betgm
(D) A= * (D) S Beeg
Which of the following countries has the This part of India reccives rainfall in two
highest annual population growth rate? #* seasons of a year—
(A) India * (A) Kamataka Coast
: o
(B) China P (B) West Bengal Coast
(C) Afghanistan : (C) Tamil Nadu Coast
(D) Bangladesh * (D) Andaman Tslands



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

i 22— RN

'.1".:- (9)

CS8S8(5)/2025
37, RG] WA P e Provepsen % 40, ST G weer stz g
e ts Sieeard (o T weH et » ol fa
W) T s b (A) Paofd)
(B) fasat <= * (B) o
(€) w5 @ & (©) wmfE
(D) @ (D) (Bfet
*
As per the latestcensus, which state in India - ich i ic tri
achieved the first place according to sex-ratio? @ of the ;::::m;f ::::IZ}:PI-:SE?; nom e
(A) Kamataka f (A) Pygmy ;
(B) Tripura (B) Semang
(C) West Bengal (C) Masai
(D) Kerala (D) Toda

38, W 38 SRl W coftmied e e

frm : 41. 1 CRLET FEeN WEF A 6 Sl Rt
ﬁﬁﬁ%ﬁﬁﬂﬂﬁwmﬁwm? Pl
. mﬁﬁ P (A) 31 3= T
o i B) =iFfam = =
(©) 3 b7 7@ (C) SRR
(D) wiF-= =g ) 1 o

By which law will the low pressure area he
on the right side if one faces away from the
direction of wind in the southern hemisphere?

(A) Ferrel's law

(B) Coriolis force

(C) Buoys Ballot's law

(D) Halley's law

The ratio between the least count of the
main scale and number of vernier scale divisions
is called

(A} Main scale reading

(B) Vemnier scale reading

(C) Vernier constant

(D) Main scale constant

39, ©ige e Fifeme Redea die 2068

EEBDDRED T ERED D R I&l_%.l-ﬂ‘ﬁ"&&-ﬁi‘l‘lﬁ&.‘-ﬂll"lI'ﬂ'l‘&-lr

‘MONEX® #e1f#s 20 (1 e 7 42. ﬂ%mﬁmm#@ﬁm'ﬂﬁamﬁ

(A) 1970 (A) :

(B) 1979 (B) #rea ivoics

(C) 1990 (C) FEweEE e

(D) 1960 (D) wergfite -

In which year, was ‘MONEX" carried out Lowest rate of downcutting of a river is
by Indian and Soviet scientists? observed at ,

(A) 1970 (A) Mountain valley

(B) 1979 (B) Piedmont region

1990 (C) Near sealevel
g 1960 (D) Plateau region
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43, SIFS TAER (R e cufe et WS R 46, A BT AR G 2T
S o AT EraEfEl WH0T ol 4w ¢

' 2 2

(A) 1992 By . (A) W

(B) 2000 30 % BRECE

(€ 2002 ® . & .

(D) 1980 . 5 ﬁ%ﬁﬁiﬁ'ﬁl .

In which year, did the Government of India
introduce the Biodiversity Act?

Which type of chemical weathering is found
to be operative on limestone in hot-humid elimate?

(A) 1992 {(A) Oxidation
(B) 2000 (B) Carbonation
(C) 2002 (C) Hydration
(D) 1980 (D) Desilication
44, FraPiRoofie w00 G #bhe e Be Wt?.mﬁamﬁﬁﬁ%mmﬁﬁwm
Critd
(A) TF= (A) ==t
(&) nir;!;*ﬂ% (B) g =520
(C) % o= (C) %-sub 1
- Which of these is not & conventional s
B coerey ventional source : ::ifhchnfﬂm&emﬂntahlgh}mldmsvmr}r
(A) Coal of rice? :
(B) Solar power (A):deya
(C) Mineral oil (B) IR-20
{D) Natural gas {C) Swarmno-sub 1
(12} Sonalika

45. 4% T S0 (I 0 e e 48. Ty fiw spre dmreE BB s 6

EERT TR DR e I‘%’r-'ﬁ'@'lG-ﬂ‘ﬁﬂ&»ﬁ&!’iﬁﬁl‘,*;ﬂ“-ﬂ'-l“.&‘ﬁ&i—@s}ﬁ-tr

(A) e a3 Trmreley Bagad 7@
(B) A (A) 2o <3 T BN E
© wA (B) R ey |
(D) 7 (C) TYax® Fm & |
~ Which of these is not an east-flowing river (D) IR e |
in India? Some industries come up near the source of !
(A) Godavari raw materials. An important example is ‘|
(B) Cauvery (A) Cotton Textile industry '|
(Cj' Tapi (B) Sugar industry
R (C) Information Technology industry |
(D) Krishna (D) Chemical industry



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

b= (1) CsS(sy2025

49, Tez--ifesw wHARDE TP WIS a3 * 52, Swmren wmHRE A A d8 At —

Zie T TR 25 (A) wﬁ
E;J) 1;;?#6 ok i
= B : (C) ErEmam
(© o ® (D) A
(D)

This city is known as the ‘Manchester of

A famous fishing port located along the India’—

North-west Atlantic coast is (A) Mumbai
(A) Portland (B) Kolkata OF 240
(B) Newport (C) Ahmedabad ot
(C) Skina (D) Nagpur =
(D) Tromso

50. (P A CEEE w9 Ry sifEEe o=

— 53, TEGTAT FETEE Hu B 7

(A) TR goF
(A) Fre e (5) vty whers
(B) 7% Carferes ot (C) T SyjeAre
(), ST oy (D) Twlare
(D) i The principal source of ocean salinity is
Which type of scale helps in finest (A} Oceanic crust
measurement? (B) Eroded materials from the continents .
(A) Statement scale ik (©) Oceanic volcanism |
(B) Simple linear scale o (D) Meteorite fall .
L

(C) Ratio scale =
{D) Vernier scale

54, SETET G2 ArerelEE Wy ey St

ERREG DRGNS DCEF ST LN ROH LD R T RO ODOT TR TREESS EED DTS

51, TRISE <l Sew 25FN I TR AR @7
(A) @ & HifEE (A) N
(B) = ferewm (B) Bezame
(C) % 7. esm (©) R
@) 7 (D) ¥=AT8
f the t Which of the following states in India has
‘m}':i?;?was the proponent of the term M msitichin e
(A) Madhya Pradesh
A) A.G. Tansley _
EB) R. Lindeman (B) Uttar Pradesh
L (C) Bihar
Sr .
[Please Turn Over]
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55, &
TR Beige @ WRHET NS wewe : 58. @3fl 0fEa ETEE AW Srigpeis g

i{ -
A SR 91 0t EYNE a2 PN T S g
(B) Sk e gl @5 f ;
(C) ¥uE wif= * (o d
: , s (D) ©6 ¢ Frmm
The intermediate region between * : ,
Continental Coastline and C ontinental Slope is * Which will be the most suitable carfogram
known as : to represent the population density of a country?
(A) Continental shelf * (A) Piegraph
(B) Abyssal plain ; (B) Choropleth
Eg; ?‘;‘m canyon o (C) Chorochromatic
i . (D) Dot and Sphere
: s 5. Fuffie femebr o @b =hmg
56. S Brgte BT T8 gl & il s
(A) b (A) EHRE] B
(B) Dreiten : (B) it e
(C) sieriia s b {C) ey Gl
(D) Dz : (D) peifes
Tropical cyclone that originates along the * Which of the following rocks has the highest
Japan coast is known as & - dngpex: of hardness? -
(A) Hurricane o 2 (A) Sandstone
(B) Tornado ﬁ% & (B) Marble
(C) Roaring Forties 13 5 (©) Quartzite
(D) Typhoon @ (D) Limestone
s
57. TwwE (oA o A A 4 N :
i . & (A) TFrs= e gy ®
Cndhiilals *  m meem :
w .5
(B) s =i==yest » (C) Ffm e momfay  ®9
©) wegT g . (D) P & ey
(D) Beiras sRefy The
e _ f * upper partof the earth’s crust is mainly
Inversion of temperature is caused by ; composed of which two mineral constituting
(A) Long night o elements?
(B) Calm weather & (A) Nickel and Tron
() Snow-covered surface ; (B) COPFET and Iron
(D) All of the above & (C) Silica and Magnesium
* (D) Silica and Aluminium
.
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